


Vocabulary

ADDITION

increase

more

sum

together

SUBIMRACTION

take away take from

minus fewer
less - take

reduce difference

remain how many more

lessons can be found at:

https:/ /whiterosemaths.com/homelearning /year-5/week-4/



Date

Subject/s

Maths

Learning Ohjective

To recall and use multiplication and division facts
1) 7x2 = 21) 8x6 =
2) 3x8 = 22) 7x9 =
3) 4x6 = 23) 6x7 =
4) 2x9 = 24) 8x8 =
5) 6x4 = 25) 6x3 =
6) 8x4 = 26) 9x6 =
7) 7x5 = 27) 7x5 =
8) 9x10 = 28) 8x9 =
9) 6x6 = 29) 10x7 =
1) 6X = 18 21) = 49
2) 8x = 16 22) 8x = 72
3) _ x7 =17 23) = 48
4) X9 =45 2) 9x = = 45
5 7x__ .. =21 25) = 63
6) X6 = 36 26) 6x = 36
7) x8 =40 27) 8x = 64
8 9x = 90 28) = 42
99 _  x8 = 32 29) = 72
10) x6 = 24 30) 7x = 56
11) 7% .. = 63 31) = 48
12)  x6 =0 32) 6x = 60
13)  x8 = 80 33) 9x = 45
14) 9x = 54 34) = 72
15) 6x = 42 35) = 28
16) ___ x8 = 56 36) 9x. = 81
17) __ x9 = 81 37) = 6
18) 6x = 30 38) = 64
19) 8x = 48 39) 7x = 49
200 x9 =18 40) = 54




Steps. tor Success

Date

Subject/s

Maths

Leaming Ohjective

Cilac
IN.::-‘II w

To add numbers with fowr or more digits.

SA TA

Success Criterio

=

I can use place volue columns to set out calculation

I understand when to exchange

I can use number honds to add efficiently

Suppaort

Independent Adult Support. ( ) Group Work

Pre-tosk:
Colculate 7084 + 9118

Calculate 87623 + 3789

mlu]tfo] [ [ H ] TT]o
5345 (9990900100
NBOEE 800 o0 gO
1 —3° 23/93/23 I—!mgoucwmmthacohunnmd)rwd,along-
Can you spot which columns we will need
me[T[o][m [ A [T ][0 to- make an exchange from?
534 5| @DOO|CO 88| ) J:
+3as 7 8°° 0OI8Y: First, I can see that the ones column shows
20882329 5 +7. This will make a total greater than 9
© 199, so I will need to exchange.
[m[a[rJo] [ [ n [T [ 0o
>3 45 (28809000 Youw can see the exchange recorded here—
H3457 @ | R S the ones have heen written in the ones col-
L 8°(88 &6 ! umn and, the exchange is written just under
C b the tens column next to it.
2
m[H]7]o] [[Th
REEIE §8 Now look at the tens column, yow can see,
2] |8 that when I add in the exchange I now
1 have 4 + 5 + 1 =10, so I will need to ex-
change again.
m[H[tfo][m [ H ] T]o
5345 9SS0 109, You can see it recorded here.
T Pelee
T e 00 i: !
o 2
i Now I just need to add the remaining col-
m[rfo] [T W] TTo umns. They both total less than 9 so no
532 5| OO0 T
Wsas |8%° 1 4 more exchanges are needed.
s 802 @900 I
T e 00 EE i
3 | s 0;'_5“




Fluency

Complete these on the squared paper on the next page

3451 + 5432 =

1763 + 4342

1812 + 5231

1083 + 2155

3321 + 7238

71667 + 4715

1902 + 4873

1099 + 2137 =

2561 + 6273 =










Fluency answers

3451 + 5432 =

1763 + 4342

1812 + 5231

1083 + 2155

3321 + 7238

71667 + 4715

1902 + 4873

1099 + 2137 =

2561 + 6273 =

8883

6105

7043

3238

10559

12382

6775

3236

8834




Problem Solving and Reasoning

Five children hove been ploying a times tables game.
Here are their scores:

Lottie Sam Izzy Abdul Ffiom

32 357 30 541 34 057 31 647 33 587

a) Which two children hove o combined

score of exactly 62 1887 Use it!

b) Which two children have a combined

score of exactly 65 9447 m?

Annig Mo and Alex are working out the
solution to the calculation 6,374 + 28253

Annie's Strategy

Explain it!
6,000 + 2,000 = 8,000
300 + 800 =10
/0+20=90
4+3=7
8000 +M0 4980 +7=8207
Mo's Strategy Alex's Strategy
6|3 7 4 6 /3|7 4
+2(8|2(3| [f[2]8]2]3
O 7
gl1/9|7
[ I N I 9 0
1/17/00
Who is correct? gooo .
119 7
Complete;

Mo says that there is more than one

possible answer for the missing numbers

in the hundreds column. Explain it!
Is he correct?

Explain your answer.




Pronlem Solving and Reasoning - Answers

a) Abdul and Sam
b) Lottie and Fhion

Alex is correct with
9197

Annie has
miscalculated
300 + 800,
forgetting to
exchange a ten
hundreds to make
a thousand
(showing 11

tens instead of 11
hundreds).

Mo has forgotten
both to show and
to add on the
exchanged
thousand.

The solution
shows the
missing numbers
for the ones, tens
and thousands
columns.

6_38+2_87

Ma is correct, The
missing nurmnbers
in the hundreds
column must total
1200 (the
additional 100 has

been exchanged)

Passible answers
include:

65338 + 2987
6,438 + 2887




Further Challengee

Rank by difficulty

2996 + 1650
3461 +2537

4837 +2189



Date

Subjectys Maths
Learning Ohjective

To recall and use multiplication and division facts
I x 4= 7 x 8 = 9+ 3 = 36 + 12 =
21 + 7 = 8 x6= 12 x 4 = 10 x 8 =
4 x 8 = Ix9 = 4 x 7 = I x 11 =
40 + 8 = 15 + 3 = 2 + 9 = 20 + 4 =
4 x 11 = 48 + 6 = 8~ 4 = 6x8 =
hx 8= 11 x 3 = h x 8 = 80 + 10 =
24 + 4 = g8 + 11 = 24 + 3 = 4 x 1 =
L+ 8 = 8 x4 = 9 x 4 = 8 xh =
10 x 3 = 16 + 4 = 8 x 11 = 6 x 4 =
hx4= JL + 8B = 6 ~ 3 = J+ 3=
1% = 5 = I x b= 48 + 10 = 44 + =
4 x 9= 8+ 8 = I x4 = 7T x 3=
11 x 8 = 4 x 3= Ox8= 10 x 8 =
I x 12 = 48 + 8 = 18 + 3 = 28 + 4 =
24 + 8 = 3o+ 10 = Ix 3= e = 7 =
W + 3 = 8 x9 = 64 + 8 = 4 x 12 =
T x4 = 10 x 4 = 36 + 4 = Ahx 3=
36 + 9 = 16 + 8 = 8 x8 = hg + 7 =
hg + 8 = 8x 3= L= = 4 x 6 =
Ix0= 7L+ 9= 4 x 12 = JL + 4 =
12 =4 = Ix 8= % + 1) = 120 x 3 =
33+ 3 = 4 x 4 = 24 + 8 = 7 x8=
6x 3= 9 x 8= 2x 3= 9 x 3 =
40 + 4 = 4 + 4 = 11 x 4 = 21 + 3 =
18+ T = Ix T = 3+ 8= 8 x 12 =




Steps to Success

Date
Suhject/s Maths
Learning Objective . . :
To add numhers with four or more digits - continued,
SA TA

=

Success Criteria I can use place value columns to set out calculation
val— I understand when to exchange
I can use numhber honds to add efficiently
Support Independent. Adult Support ( ) Group Wark
TThT™h H T O
Teacher Led
2 2 0 5 6
Remember that it is important to line the
digits up—look at this example, they will 3(1|7
get the wrong answer hecause they've
written three hundred and seventeen as
thirty-one thousand, seven hundred. It can -
help to say the numhers out loud. TTh Th H 0
Here is how it should. he set out. el el il B
3(1 |7
2 2 3 7 3
TThTh H T ©
Don't forget to add your exchanges—can e
you spot the mistake in this one?
il 2(8(1|9
Well done—the thousands column should S
add to 10, so needs to he exchanged. 1
TThTh H T O
Here is the correct solution. ==
+ 2(8/1|9
1 00 5 9
Look at this example—youw can follow the 1
! h Th
two numbhers to- add! LI
6 3 0 7 0
7 6 0 0
+ 5 8 2
71 2 5|12




Fluency

Use the square paper on the next page to work out your answers.

Find the total number of website hits on each day.

Day of the week am pm Total number of hits
Sunday 36,432 57478
Monday 19.758 24,642
Tuesday 21427 32,846
Wednesday 16375 25,342
Thursday 18,631 26,492
Friday 17.563 42869
Saturday 33.642 58,567

Now add the total hits for the days from Monday to Friday.










Fluency —Answers

Sunday 36432 +57478=93910
Monday 19.758 + 24,642 - 44,400
Tuesday 21427 + 32846 = 54,273
Wednesday 16,375 + 25342 - 41717
Thursday 18631 + 26492 - 45,123
Friday 17563 + 42869 =60,432
Saturday 33,642 + 58567 =92,209

Monday to Friday =
LLLOO + 54273 = 41717 = 45123 + 60432 = 245945



Problem Solving and Reasoning

Use it!

[ Work out the missing numbers.

24737 e
+ 27?572
/78529

Amir is discovering numbers on a
GEHEEHD chart. Use it!

He makes this number. oY

113405:35
m:au:mmmo-m-mm

13 00 180 i) ET0] (5] T [T L]

LDG0 200 3000 SO0} BODD OO0 E000 SO0}

JmummmumO:mmum

Amir moves one counter three spaces
on a horizontal line to create a new

number.

When he adds this to his original
number he gets 131130

Which counter did he move?




Frmeem. Sriang ol KMEonan - U

24957 + 25592
= 78,529

He moved tha
counter on the
thousands row, e
moved it from
4,000 to 7000

Further C e

How many ways?
Complete using digits 1-9. Use the 7 as shown.

HE-E-H-E-B

Level 1: 1 can find a way
Level 2: | can find different ways
Level 3: | know how many ways there are



Date

Subject/s

Maths

Learning Ohjective

To recall and use multiplication and division facts
1 9 X7 30 6x9 59 9X4
2 8 x4 31 12 x 3 60 7 x6
3 7x10 32 3x8 61 4x8
4 9x9 33 8X38 62 12X 2
5 6x2 34 6x8 63 3x6
6 4x7 35 Mx7 64 4 x10
7 9X?2 36 10 x 1 65 9x1
8 12 x12 37 10 x5 66 3x12
9 5X9 38 3x5 67 3x10
10 7X7 39 12xM 68 4 X4
1 Mx6 40 6x6 69 4x9
12 5x1 41 2x9 70 4 x 1M
13 4x6 42 12 x7 71 6 x5
14 9x5 43 1Mx8 72 7x2
15 8 X 12 44 2x6 73 5x12
16 10 x 10 45 4 x5 T4 2x10
17 7x3 46 4x9 75 4 x12
18 5x8 47 8x2 76 7x8
19 3x3 48 7x9 77 6 x 10
20 10 x 11 49 12x8 78 12x6
21 M x?2 50 9X4 79 7x12
22 2x7 51 5X5 80 2X2
23 6 x12 52 10 x 12 81 Mx0
24 5x7 53 8 x 11 82 2x12
25 10 x6 54 4x3 83 2X4
26 9 x12 55 2x5 84 8x5
27 5x4 56 5x10 85 7x1
28 M x1 57 9x3 86 9x6
29 7Tx4 58 8 x10 87 10 x 11




Steps. to Success

Date

Subject/s

Maths

Learning Objective

To subtract numhers with fowr or more digits

TA

Success Criteria I can use place value columns to set out calculation
\/! I understand when to exchange
I can use nwmher honds to subtruct efficiently
Support Independent Adult Support ( ) Group Work
Pre-task
71824 — 3481 = 85623 - 22816 = 85045 - 62571 =




Teacher Led

Here youw can see a column subtraction
shown alongside place value counters.

Remember to start from the ones. You
can see it recorded, in the column
method and the place value counters
crossed out to show the subtractions
of the ones and the tens.

Now look at the hundreds column—it
is showing one hundred subtract five
hundred. We can't do this, so we need
to exchange.

We can exchange one thousand for ten
hundreds bhecause 1 thousand = 10
hundreds.

On the column method, this is shown
by changing 4 thousands to 3 thou~
sands and exchanging this on to show
11 hundreds.

Now we can complete the subtraction.

It is important to rememher that
1 ten = ten ones

1 hundred = 10 tens

1 thousand = 10 hundreds.

As we move to the left, the digits get
ten times higger.

oo
oo

N
30

Q'.- Ta
TEld
b L "

RN R
(I I I O

Th

ee
-

[ T (R

[EU I S Ny B |

000000
00000

Th

ee
-]

86
8o

R00
] '8
o

o | =2 O

WM [ | o

880000
88800



Fluency

Use the squared paper on the next pages to work out these:

1 7894 2 7425 3 9882 4 6746
-3918 - 6773 — 6443 ~-5816
5 6873 6 7043 7 7861 8 9803

-5175 - 5878 - 7200 - 1985









Fluency —answers

question

i

3976

652

3439

930

1698

1165

66l

7818

b= - T T T O I

2018

—
=]

4272

1190

ol
ol

-y
]

379




Problem Solving and Reasoning

Use it!

There were 2114 visitors to the museum
on Saturday.

650 more people visited the museumn
on Saturday than on Sunday.

MUSEUM

-y

Altogether how many people visited the
museum over the two days?

What do you need to do first to solve
this problem?

Use it!

Find the missing numbers that could go
into the spaces.

Give reasons for your answers.
1345 =4_6

What is the greatest number that could go
in the first space?

What is the smallest?

How many possible answers could you
have?

‘What is the pattern between the
numbers?

What method did you use?




Problem Solving and Reasoning - Answers

Use it!

First you need to
T find the number of

visitors on Sunday

which is

214 — 650 =

1,464

Then you need to
add Saturday's
visitors to that
number to solve
the problem.
1464 + 2114 =
3578

Possible answers:

1751and O
1,767and 10
1771and 20
1781 and 30
1,791 and 40
1,801and 50
1811 and 60
1821 and 70
1,831 and 80
1847 and 80
1841 is the
greatest
1,751 is the
smallest.

There are 10

possible answers.
Both numbers
increase by 10




Further Challenge

RaAnk by difficulty

2001 -48
130 - 48

1999 -48



Date

Subject/s

Maths

Learning Ohjective

To recall and use multiplication and division facts
1 9 X7 30 6x9 59 9X4
2 8 x4 31 12 x 3 60 7 x6
3 7x10 32 3x8 61 4x8
4 9x9 33 8X38 62 12X 2
5 6x2 34 6x8 63 3x6
6 4x7 35 Mx7 64 4 x10
7 9X?2 36 10 x 1 65 9x1
8 12 x12 37 10 x5 66 3x12
9 5X9 38 3x5 67 3x10
10 7X7 39 12xM 68 4 X4
1 Mx6 40 6x6 69 4x9
12 5x1 41 2x9 70 4 x 1M
13 4x6 42 12 x7 71 6 x5
14 9x5 43 1Mx8 72 7x2
15 8 X 12 44 2x6 73 5x12
16 10 x 10 45 4 x5 T4 2x10
17 7x3 46 4x9 75 4 x12
18 5x8 47 8x2 76 7x8
19 3x3 48 7x9 77 6 x 10
20 10 x 11 49 12x8 78 12x6
21 M x?2 50 9X4 79 7x12
22 2x7 51 5X5 80 2X2
23 6 x12 52 10 x 12 81 Mx0
24 5x7 53 8 x 11 82 2x12
25 10 x6 54 4x3 83 2X4
26 9 x12 55 2x5 84 8x5
27 5x4 56 5x10 85 7x1
28 M x1 57 9x3 86 9x6
29 7Tx4 58 8 x10 87 10 x 11




Date

Subject/s

Maths

Learrung Ohjective

To subtract numhbers with four or more digits continued,
SA TA
Success Criteriav I can use place value columns to set out calculation l
‘/' I understand when to exchange
I can use numher honds to subtruct efficiently
Support Independent Adult Support ( ) Group Work
: Teacher Led
Th O Th H T (0) Look, at this,
3 (0o |00 00 at this example.
1 9 © (00 In the ones we can see 2-9. We can't
. do this, so we need to exchange. How-
ever, there is nothing in the tens col-
umn to exchange with. What should
we do?
Th H|T|O Th H T O
3 |4 % 2 g° g@ 00|00 First we need to exchange 1 hundred
1309 i for 10 ens. You can see this on the col-
Y- wmn method and the place value coun-
Now we can exchange 1 ten for 10
Th H|T]O Th H T O . j
VI I EEEEIEL
e |© 00|00
1|/3,0/[83 00|00
00 |00
00
Thi|H|T|O || Th H T O
329 — N complete the subtraction
VI CACEAEEILLE W we can
® @ (00|90
1(3|]0|9 oo | 0@
00|99
21093 (Tj_ 1
X




1) Complete these subtraction calculations.
You may want to use place value counters
to help you.

a)

b)

d) 52064 -25934
e) 86 807-32653

2) Here are the flight times, in seconds, for each flying
team.

a) Which teams have a time difference of 31017

b) Which two teams have the greatest time
difference? How about the smallest time
difference? Prove it!






Fluency—Answers

1)

2)

3602
3283
25308
26130
54154

High Fliers and Fantastic French

Sea Beast and The Conjurers (10 46¢4). Number One and Fantastic French (1238). Look for children who explain their
reasoning about number selection, e.g. taking the largest and smallest numbers to find the greatest difference and
the two closest numbers for the smallest difference, rather than trying every combination of numbers to find the
correct ansioer,




Problem Solving and Reasoning

Rana has been practising the column
method but she has made some mistakes.
Can you identify all the mistakes and
explain what she has done wrong?

Complete the calculation yourself to show the correct

workings.
a) 1
3 |%1 5 6 1
- 1 6 3 5
3 0 9 3 4
b)

Is this statement always, sometimes or never true?
Explain your thinking.

‘If you find the difference between two consecutive
numbers, the answer will be an even number.’

G0

) Th H T O

Use it!
7| ? ?
G s + 4 6| 7 | 8
74 3 1




Pronlem Solving and Reasoning
Answers

Rawna has done 5 - | rather than doing | - § and exchanging.
3 0 9 3 @
The correct answer is 30 926,

Rana has not recorded the exchange of taking | thousand
-ls5l21le! 5|3 from 4 thousands to create 10 hundreds, which would leave
2 thousands.

The correct answer is 31 631

Never. In a pair of consecutive numbers, one number will be odd and the other even.
odd ~ even = odd
odd

L]

even — odd

2753




Further Challenge

Investigate

Stage 1: complete using digits 0-9

Stage 2: complete with the unifs digit of the first
number smaller than the unifs digit of the
second humber



Date
SuBject/s Maths

Lw?g m To recall and use multiplication and, division facts
lx'lv= Ix3= 4 x 4 = 11 x 10 =
3xh = 6x8= 7Txh= 10 x 2 =
4 x § = 12 x § = 8 x 12 = Jx 12 =
7T x4 = 8 x 6= 10 x 11 = 4 x 9 =
10 x 10 = 10 x 12 = 4 x 2 = 5 T =
9x 3 = 11 x2 = 10 x 3 = 9 x 8=
T x 7 = Jx9 = 6 x 8 = 10 x 7 =
11 x 3 = 4 x 11 = 12 x 10 = 7T x8-=
10 x5 = 2 xh= 2 x 11 = 4 x 3 =
L x4 = 6 x 10 = B8 x 3= 12 x 4 =
hx6= 10 x 9 = Jx 4= hx 8 =
7 x 10 = 2L x 12 = 4 x b = 8 x8 =
9 x 2 = hx 3= 7T x8= 12 x 2 =
Jx 11 = 9 x4 = 8 x 10 = hx 4 =
10 x 4 = hxh = Lx 8= 9xhH =
8 xH = 8 x 8= 8x0 = g8 x 11 =
9x 8 = 9 x 10 = 4 x 10 = 2 x 10 =
4 x 10 = hx 2= 12 x 8 = 4 x T =
Jx L= 6x 3 = Jx 6= 11 xbh =
T x3= 6 x 4 = hx 10 = Lx 3=
4 x 8 = hx 11 = 8x 2= 8x9=
Hhx9 = Lx6= Jx 7 = 8 x 4 =
12 x 8 = 3 x 10 = 11 x 4 = 11 x 8 =
2x9= Lx T = hx 1L = 12 x 3 =

10 x8 = Ix8= 0 x 4 = 8 x7T =




Steps to Success

Date
Subject/s Maths
Learning Ohjective
To solve multi-step problems involving addition and subtraction
SA TA

@%

Success Criteria I can use efficient written methods for addition and subtractions
— I can record calculations in numhber sentences
~/' I can check that I have answered what the question is asking for
Support Independent Adult Support ( Group Work

Pre-task:

When Annie opened her book, she saw two numbered pages.

The surn of these two pages was 317
What would the next page number be?




On Monday, Richard scores 411 points.
On Tuesday he scores 63 points fewer than on
Monday.

How many points does he score on Tuesday?

Monday 411

H T O
63 311
Tuesday ? — ¥ 11

= 6 3
34| 8

On Monday, Richard scores 411 points.

On Tuesday he scores 63 points fewer than on
Monday.

How many points does he score on Tuesday? 348
Richard needs to score 1,000 points by the end of
Wednesday.

How many points does he need to score on
Wednesday?

1,000
M=411 [T=348 |w="?

On Monday, Richard scores 411 points.
On Tuesday he scores 63 points fewer than on
Monday.

How many points does he score on Tuesday? 348
Richard needs to score 1,000 points by the end of

Wednesday.
How many points does he need to score on
Wednesday? H T O
1,000 4 11
M=411 [T=348 |[wW=?|+ 3 4 8
: "
759 75 9

Teacher Led,

Here is a word probhlem.

Yow can see it here represented as a bor model.
Youw can see that there is only one step: 411-63
= 348. I have used column subtraction to work
this out.

Richard scores 348 points on Tuesday.

Now there are some additional steps I need to
complete.

Again this is shown with a bar model.

There are 2 more steps needed to solve this
problem. Can yow work out what they are?

First, I need to add Monday and Tuesday's
points together. I have shown this with the bar
model then used column method to calculate
411 + 348 = 759

Then I will need to subtract this total from
1000.

There are 2 ways to do this.
The first iwolves lots of exchanging!

In the second method, I've subtracted one from
stays the same, but there is no exchanging!

The final answer is that, if Richard wonts to
score 1000 points by Wednesday, he needs to
score another 241.



Fluency

1) Use the bar model to help you find the
answers to these questions.

I am up to page 127 in my Sweets and

Treats' book. I need to read 96 more pages

in order to be halfway through my book. How many
pages does my book have altogether?

127 96
1
5 book -
1
7 book -
whole book -

2) Here is a bar model to represent three unknown
numbers.

B C

» When B and C are added together, they make A.
» B is twice the value of C.
+ A is a number between 100 and 200.

Give three possible values for each of A, B and C.

3) Answer these problems in words by thinking about
the key information in the question.

a) 168 parents watched the performance of a
class play on Monday evening. On Tuesday
evening, there were 29 fewer parents watching
the performance. How many parents altogether
watched the performances?

b) The school hall is normally able to seat 350
people. There are 10 rows of seats with 35 seats
in each row. Tonight, it can only fit in 9 rows of
seats. If all of the above parents came tonight,
would there be any seats left over?









Fluency—Answers

= hook = 223

= hook = 223 1 book = 223

whole book = 446

223 is halfway through the book. I need to double 223 to find the number of pages the book has altogether.
223 = 2 = &40 pages
2) Multiple answers peossible, including:
A=120/150/180/123
B = 80/100/120/582
C = 40/50/60/41

3) a) Number of parents at Tuesday’s performance is 168 - 29 = 139
168 + 139 = 307 parents altogether

b) ‘es, there would be 8 seats left over.
350-35 =315
315 - 307 = 8 seats left



Problem Solving and Reasoning

A milkman has 250 bottles of milk,

He collects another 160 from the dairy,
and delivers 375 during the day,

How many does he have left?

My method:
375 —-250=125
=
125 +160 = 285
Tommy

Do you agree with Tommy?
Explain why.

On Meonday, Whitney was paid £114

On Tuesday, she was paid £27 more than
on Monday,

On Wednesday, she was paid £27 less
than on Monday.

How much was Whitney paid in total?
How many calculations did you do?
Is there a more efficient method?

Explain it! Use it!

7,




Problem Solving and Reasoning
Answers

Tommy is wrong.
He should have
added 250 and
160, then
subtracted 375
from the answer.

There are 35
bottles of milk

remaining.

£342

Children might
add 114 and 27,
subtract 27 from
114 and then add
their numbers.

A maore efficient
method is to
recognise that the
‘€27 more’ and
‘£27 less' cancel
out so they can
just multiply £114
by three.







